

Pam Sulaiman Ibrahim

19/ENK04/052

Elect / Elect

①

If  $y = e^{x^2+x}$

show that  $y'' = y'(2x+1) + 2y$

Soln

$$y = e^{x^2+x}$$

$$y' = (2x+1)e^{x^2+x}$$

$$y'' = (2x+1)(2x+1)e^{x^2+x} + 2e^{x^2+x}$$

recall

$$y = e^{x^2+x} \quad \text{and} \quad y' = (2x+1)e^{x^2+x}$$

then

$$y'' = (2x+1) \cdot y' + 2 \cdot y$$

$$\therefore y'' = y'(2x+1) + 2y$$

Hence prove that

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

using Leibniz theorem

$$y'' = y'(2x+1) + 2y$$

$$y'' + y'(2x+1) + 2y = 0$$

$v_1$

$v_2$

$v_3$

15/ENGG04 (052)

$$u_1 = -y'' = \frac{d^2 y}{dx^2}$$

Ans

$$v = y'' \quad v = 1$$

$$u^2 = y^{(n+2)} \quad v' = 0$$

$$u_2 = y'(2x+1)$$

$$v = y' \quad v = 2x+1$$

$$u^3 = y^{(n+1)} \quad v' = 2$$

$$v'' = 0$$

$$u_3 = 2y$$

$$v = y \quad v = 2$$

$$u^4 = y^n \quad v' = 0$$

Combining all three

Therefore

$$y^{(n+2)} = y^{(n+1)}(2x+1) + 2ny^{(n)} + 2y^{(n)}$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + 2y^{(n)}(n+1)$$

② Using arbitrary theorem

$$y = x^3 e^{4x}$$

determine  $y$ 's  
solution

take  $v = e^{4x}$  and  $v = x^3$

Prn 15/ENG04/052

$$y^n = u^n v + n u^{(n-1)} v^n + \frac{n(n-1)}{2!} u^{(n-2)} v^2$$

$$+ \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v^3 + \dots$$

$$v^n = 4^n e^{nx}$$

$$v = x^3$$

$$u^{(n-1)} = 4^{(n-1)} e^{4x}$$

$$v' = 3x^2$$

$$u^{(n-2)} = 4^{(n-2)} e^{4x}$$

$$v'' = 6x$$

$$u^{(n-3)} = 4^{(n-3)} e^{4x}$$

$$v''' = 6$$

$$y^{(n)} = 4^n e^{4x} \cdot x^3 + \frac{n}{1!} 4^{(n-1)} e^{4x} \cdot 3x^2 + \frac{n(n-1)}{2!} 4^{(n-2)} e^{4x} \cdot 6x + \frac{n(n-1)(n-2)}{3!} 4^{(n-3)} e^{4x} \cdot 6$$

$$+ \frac{n(n-1)(n-2)}{3!} 4^{(n-3)} e^{4x} \cdot 6$$

$$y^{(n)} = x^3 n 4^n e^{4x} + 3x^2 n 4^{(n-1)} e^{4x} + 3x n^{(n-1)} 4^{(n-2)} + n(n-1)(n-2) 4^{(n-3)} e^{4x}$$

yn

$$= x^3 (4)^5 e^{4x} + 3x^2 (5) 4^{(5-1)} e^{4x} + 3x(5)(5-1) 4^{(5-2)} + 5(5-1)(5-2) 4^{(5-3)} e^{4x}$$

$$\cdot 1024x^3 e^{4x} + 3840x^2 e^{4x} + 3960x + 960 e^{4x}$$

$$= e^{4x} [1024x^3 + 3840x^2 + 3960x] + 960$$